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1 SXKA+Y.+Z) = ZX+2Y, +2Z
i=1 1 1 ! i=t 1 =1 1 j=1 1}
fMudhane
n
i:Zl(xi+\{i+zi) = X +Y, +Z)+ X+, +Z)+ .+ (X Y +Z)
= (x1 +X,+ . +Xn)+(Y1+Y2+ et Y)+ (2 + Zn)
n n n
= XX +2Y.+272Z
i=1 1 =1 1 j=1 1
B.0.W.
- 8
2 . zlxi = X+ X, + .+ X,
4
4. 2X2 = X+ X+ .+ X
i=1 ] 1 2 4
3
f. ,-:El (X, +Y) = (X +Y)+ (X, + Y,) + (X, + Yy

(X, —a) = (Xl—a)+(X2—a)+...+(X5—a)

(=)
b Tve Tt
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~
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XZYZ + X3Y3 + ...+ XY

i i 66
2 _ 2 2 2
no XX = XTf 4 X001, + .+ X
20
3, N Z +Z,+Z+.. +Z, = ‘?’:‘1 z
) 6
Voo X f X+ X = > £

X
1
3 3 3 L 3
Ao XY, + XY, + L+ XY, = %xi Y

4 X, =3,X,=-2,X,=1,X,=0,X,=2
f,=2,6,=8,£=20,f=12,f =3
Y =7,Y,=-4,Y,=8,Y,=5,Y =3
5
n. i.z.‘;xi = X, +X, 4.+ X

3-2+4140+2 = 4
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9. ;}(XiYi
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(X, - k)

Y2+Y3+Y4

—-4+8+5 = 9

lel + X2f2 + ...+ X5f5

(G)2) + (=2)(8) + (1)(20) + ... + (2K3)
6+(—-16)+20+0+6

16

2 2 2
X1+X2+...+X5
B3+ (-2 + ... + (2
18

XY, + XY, + .. + XY,
G)(7) + (=2)(=4) + ... + (0)(5)
37

fol + ngZ + ..+ X§Y5
GY () + (=2X(=4) + ... + 2)%(-3)
75

P

Xi“nk

(X, =K + (X, = k) +.+ (X, —K)
X +X+ .+ X)—(k+k+ .. +k)

M::

Xi-—nk

I
—_

ipa

x?"lﬁaﬂuiﬁamﬂx

2
X, +X,+ .. +X)

2 2 2
Xl + X2 + ...+ Xn + 2X1X2 + 2X1X3 + ...+ 2)([1_1)’((n

n
X2+22 XX,
=1 i i

i<j
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mew 2 3 XX, lumenvesrmuiandl wennnh = XX, =0

i<j i<j

n n n
7. SX -k = ZX-2%k2X +nk
i=1 i=1 1 i=1 !
b 4 v 4
AMudnyne
n n
21 (X, - k)’ = }31 (X2 - KX, + &)
i= =

= (¢ - 2KX, + k) + (X — 2kX,, + k%)
+o+ (8 - 2KX_+ K

— w2 w2 2 .

= O+ X+ .+ XD) - KX+ X X))

+ K+ K+ L+ KD

n n
= X X’ - %2 X, + nk’
i= i=
7.0,
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